
X-sect = 6.310E+00(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 2.776E+02   RMS = 4.705E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 8.018E+01   RMS = 3.620E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 5.809E+01   RMS = 2.139E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 5.830E+01   RMS = 2.144E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 4.020E+01   RMS = 2.129E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 4.071E+01   RMS = 2.147E+01
Tot # Evts =   50000  Entries =    9667  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG =-1.194E-02   RMS = 1.487E+00
Tot # Evts =   50000  Entries =    9659  Undersc =     5  Over



X-sect = 6.310E+00(pb)   AVG =-5.249E-03   RMS = 1.473E+00
Tot # Evts =   50000  Entries =    9659  Undersc =     4  Over



X-sect = 6.310E+00(pb)   AVG =-3.448E-03   RMS = 1.498E+00
Tot # Evts =   50000  Entries =    9659  Undersc =     6  Over



X-sect = 6.310E+00(pb)   AVG = 1.667E-03   RMS = 1.503E+00
Tot # Evts =   50000  Entries =    9657  Undersc =     6  Over



X-sect = 6.310E+00(pb)   AVG = 1.616E+00   RMS = 8.900E-01
Tot # Evts =   50000  Entries =    9521  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.701E+00   RMS = 8.853E-01
Tot # Evts =   50000  Entries =    9498  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.880E+00   RMS = 8.251E-01
Tot # Evts =   50000  Entries =    9485  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.874E+00   RMS = 8.337E-01
Tot # Evts =   50000  Entries =    9487  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.711E+00   RMS = 8.848E-01
Tot # Evts =   50000  Entries =    9499  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.436E+00   RMS = 8.731E-01
Tot # Evts =   50000  Entries =    9566  Undersc =     0  Over


